					BID RESULTS					
				A DOODS OF HUNDRING SERVICES FOR		CENTER FOR A PERIOD OF TWO YEARS				
				AB2021-24 NURSING SERVICES FOR	BID OPENING DATE: JUNE 10.2021	CENTER FOR A PERIOD OF IWO TEARS				
NUMBER OF BIDDERS	10				DID OTENINO DATE. JUNE 10,2021					
NAME OF BIDDER	ALL AMERICAN HEALTHCARE SERVICES INC.	STAFF TODAY INC (STI)	MEDICAL STAFFING SERVICES INC.	MANAGEMENT REGISTRY, INC	HEALTH CARE CONSULTANTS, INC.	HORIZON HEALTHCARE STAFFING	MAXIM HEALTHCARE STAFFING SERVICES INC.	AROUND THE CLOCK HEALTHCARE SERVICES (ATC)	ACCESS THERAPIES, INC	WORLDWIDE TRAVEL STAFFING, LIMITED
ADDRESS	494 BROAD STREET, SUITE 302	212 E. ROWLAND ST. 313	25 KENNEDY BLVD, SUITE 200	1868 CAMPUS PLACE	2 PIN OAK LANE	198 US 9 NORTH SUITE 107	7227 LEE DEFOREST DRIVE	1983 MARCUS AVENUE, SUITE E122	7345 WOODLAND DR.SUITE B	2829 SHERIDAN DRIVE
CITY, STATE, ZIP	NEWARK, NJ 07102	COVINA, CA 91723	EAST BRUNSWICK, NJ 08816	LOUSIVILLE, KY 40299	CHERRYHILL, NJ 08003	MANALAPAN, NJ 07726	COLUMBIA, MD 21046	LAKE SUCCESS, NY 11042	INDIANAPOLIS, IN 46278	TONAWANDA, NEW YORK 14150
CONTACT	ISABEL DORAN	ANDREA GOODWIN	JOURDAN BLOCK	STACEY DLOUHY	KELLY ROGERS	NANCY GOLDSTEIN	ALEXANDER PRIOR	CHERYL STEIN	ANMOL KAPOOR	LEO R BLATZ
TELEPHONE	732-373-8281	800-928-5561	732- 238 -6050	888-851-3588	1856-669-0211	732-817-0500	410-910-1500	516-750-1618	317-300-7419	866- 633- 3700
FAX	866-629-2242	877-858-6263	732 -846- 9815	888-873-7106	1856-424-8921	732-817-0555	N/A	516-570-1783	317-388-0805	877 -375- 2450
E-MAIL	ISABEL@AAHCS.ORG	HRMANAGER@STAFFTODAYINC.C OM	JOURDANGSTAFFING-THE- UNIVERSE.COM	STACEY.DLOUHY@MANAGEMENTR EGISTRY.COM	KROGERS@NBNGROUP.COM	NANCY@HHSTAFF.COM	phwells@maxhealth.com	CSTEIN@ATCHEALTHCARE.COM	ANMOL@ACCESSTHERAPIES.COM	LBLATZ@WORLDWIDETRAVELSTAFFING.C
NJ SAVI DESIGNATION	N/A	MINORITY BUSINESS OWNED ENTERPRISE	SMALL BUSINESS ENTERPRISE	N/A	WOMEN BUSINESS OWNED ENTERPRISE	N/A	N/A	N/A	N/A	N/A
ADDENDUM NO ONE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ADDENDUM NO TWO	NOT ACKNOWLEDGED/INCLUDED IN RESPONSE	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ LICENSE NO. HEALTH CARE SERVICE FIRM	TP0450900 EXPIRES 6.30.21	TP0475600 EXPIRES 6.30.21	HP0252600 EXPIRES 6.30.21	TP047500 EXPIRES 6.30.21	HP0188900 EXPIRES 6.30.21	HP0152200 EXPIRES 6.30.21	CT0390609 EXPIRES 6.30.21	HP0236100 EXPIRES 6.30.21	NOT REGISTERED AT TIME OF BID	NOT REGISTERED AT TIME OF BID
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	REQUIRED IF AWARDED	OK	OK	OK	REQUIRED IF AWARDED	REQUIRED IF AWARDED	OK
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
HOLD PRICING BEYOND 60 DAYS	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES
CONTINUITY OF OPERATIONS	YES	YES	YES	YES	YES	YES	YES	YES	YES	YES
REFERENCES	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW	INCLUDED ,MCCC TO REVIEW
EXHIBIT A	INCLUDED	INCLUDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	INCLUDED	REQUIRED IF AWARDED	REQUIRED IF AWARDED	INCLUDED	REQUIRED IF AWARDED
EIC	35927 EXPIRES 9.15.25	CURRENT COPY REQUIRED IF AWARDED	34784 EXPIRES 12.15.22	REQUIRED IF AWARDED	13606 EXPIRES 2.15.24	44006 EXPIRES 9.15.22	CURRENT COPY REQUIRED IF AWARDED	31843 EXPIRES 6.15.21	REQUIRED IF AWARDED	REQUIRED IF AWARDED
EXECUTIVE ORDER 98-1	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
IRAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED
RN CORRECTION CENTER AND PUBLIC HEALTH IF REQUIRED RATE PER HR	\$ 56.00					•	•	75.00		
TOTAL FOR 14,000 HOURS ANNUALLY YEAR ONE	\$ 784,000.00	\$ 815,780.00	\$ 826,000.00			\$ 868,000.00		1,050,000.00 \$	1,190,000.00	\$ 1,330,000.00
LPN CORRECTION CENTER IF REQUIRED RATE PER HR	\$ 46.00	\$ 43.99	\$ 45.00	\$ 46.00	\$ 48.00	\$ 48.00	\$ 57.00	\$ 60.00 \$	75.00	
TOTAL FOR 6,400 HOURS ANNUALLY YEAR ONE	\$ 294,400.00	\$ 281,536.00						384,000.00 \$	480,000.00	
TOTAL COST YEAR ONE	\$ 1,078,400.00	\$ 1,097,316.00	\$ 1,114,000.00	\$ 1,134,400.00	\$ 1,147,200.00	\$ 1,175,200.00	\$ 1,414,800.00	1,434,000.00 \$	1,670,000.00	\$ 1,778,000.00
RN CORRECTION CENTER AND PUBLIC HEALTH IF REQUIRED RATE PER HR	\$ 57.00	\$ 58.27	\$ 60.00	\$ 60.00	\$ 62.00	\$ 64.00	\$ 76.50	79.00	87.00	
TOTAL FOR 14,000 HOURS ANNUALLY YEAR TWO	\$ 798,000.00	\$ 815,780.00				\$ 896,000.00		1,106,000.00 \$	1,218,000.00	
LPN CORRECTION CENTER IF REQUIRED RATE PER HR	\$ 47.00							\$ 66.00 \$	77.00	
TOTAL FOR 6400 HOURS ANNUALLY YEAR TWO	\$ 300,800.00	\$ 281,536.00				\$ 320,000.00		422,400.00 \$	492,800.00	
TOTAL COST YEAR TWO	\$ 1,098,800.00							1,528,400.00 \$		
GRAND TOTAL COST YEAR ONE & TWO	\$ 2,177,200.00	\$ 2,194,632.00	\$ 2,248,400.00	\$ 2,268,800.00	\$ 2,335,200.00	\$ 2,391,200.00	\$ 2,857,000.00	\$ 2,962,400.00 \$	3,380,800.00	\$ 3,658,000.00
EXCEPTIONS	YES, MCCC TO REVIEW PAGE 29 IN BID RESPONSE PROVIDED DIFFERENT RATES FOR WEEKEND SHIFTS	NONE	YES, TO INSURANCE REQUIREMENTS RISK MANAGER/LEGAL WILL REVIEW IF AWARDED	NONE	NONE	NONE	NONE	NONE	NONE	NONE
FATAL FLAW	YES, ADDENDUM NO. TWO NOT ACKNOWLEDGED	NO	NO	NO	NO	NO	NO	NO	YES, LICENSE REQUIREMENTS NOT FULFILLED	YES, LICENSE REQUIREMENTS NOT

### BID RESULTS

# AB2021-25 VIDEO SURVEILLANCE SYSTEMS FOR THE MERCER COUNTY PROSECUTOR'S OFFICE

## **BID OPENING DATE: JUNE 10, 2021**

NO OF BIDDERS	1						
NAME OF BIDDER	CRIME POINT INC.						
ADDRESS	4682 CALLE BOLERO UNIT A,						
CITY, STATE, ZIP	CAMARILLO, CA 93012						
CONTACT	LESLIE MCLEOD						
TELEPHONE	805.484.9901						
FAX	805.388.3374						
E-MAIL	INFO@CRIMEPOINT.NET						
NJ SAVI DESIGNATION	N/A						
ADDENDUM NO. ONE	SIGNED AND DATED						
INSURANCE AND INDEMNIFICATION	SIGNED AND DATED						
INSURANCE CERTIFICATE	REQUIRED IF AWARDED						
NEW JERSEY BUSINESS REGISTRATION	OK						
STATEMENT OF OWNERSHIP	SIGNED AND DATED						
EXECUTIVE ORDER 98-1	SIGNED AND DATED						
EXHIBIT B	INCLUDED						
EIC	REQUIRED IF AWARDED						
IRAN CERTIFICATION	SIGNED AND DATED						
HOLD PRICING BEYOND 60 DAYS	YES						
THREE REFERENCES	INCLUDED						
GRAND TOTAL FOR ALL EQUIPMENT:	\$49, 510.74						
EXCEPTIONS	NONE						
FATAL FLAW	NO						

REP RESULTS  CC2021-07 OCCUPATIONAL HEALTH SERVICES FOR THE COUNTY OF MERCER  JUNE 11,2021								
NUMBER OF RESPONDENTS	2							
NAME OF BIDDER	ROBERT WOOD JOHNSON UNIVERSITY HOSPITAL AT HAMILTON, INC. OCCUPATIONAL+ CORPORATE HEALTH	OCCUPATIONAL HEALTH CENTERS OF NEW JERSEY DBA CONCENTRA MEDICAL CENTERS						
ADDRESS	TWO HAMILTON HEALTH PLACE	2542 BRUNSWICK PIKE						
CITY, STATE, ZIP	HAMILTON, NJ 08690	LAWRENCEVILLE, NJ 08648						
CONTACT	LAUREN STABINSKY	RAY COOLEY						
TELEPHONE	609-584-2151	609-493-5440						
FAX	609-689-7149	609-493-5441						
E-MAIL	LAUREN.STABINSKY@RWJBH.ORG	RAY_COOLEY@CONCENTRA.COM						
nj savi designation	N/A	N/A_						
INSURANCE REQUIREMENTS	SIGNED AND DATED	SIGNED AND DATED						
ADDENDUM NO. ONE	INCLUDED	INCLUDED						
ADDENDUM NO. TWO	INCLUDED	INCLUDED						
NJ BUSINESS REGISTRATION	INCLUDED	INCLUDED						
EIC	18621 EXPIRES 3.15.22	16058 EXPIRES 2.15.22						
EXHIBIT A	REQUIRED IF AWARDED	INCLUDED						
STATEMENT OF OWNERSHIP	SIGNED AND DATED	SIGNED AND DATED						
IRAN FORM	SIGNED AND DATED	SIGNED AND DATED						
HOLD PRICING BEYOND 60 DAYS	YES	YES						
QUALIFICATION STATEMENT	INCLUDED	INCLUDED						
key physican	INCLUDED	INCLUDED						
LOCATION OF FACILITY	HAMILTON, NJ	LAWRENCEVILLE, NJ						
MEDICAL LICENSURE	INCLUDED	INCLUDED						
OCCUPATIONAL HEALTH BOARD CERTIFIED (PROVIDED IF ONLY BOARD CERTFIED, NOT REQUIRED)								
CLIA CERTIFICATION	INCLUDED EXPIRES 11.30. 21	INCLUDED, UPDATED COPY WILL BE REQUIRED IF AWARDED						
REFERENCES AND 3 YEARS EXPERIENCE, PERSONNEL TO CHECK	INCLUDED EVALUATION TEAM TO REVIEW	INCLUDED EVALUATION TEAM TO REVIEW						
non-collusion affidavit	SIGNED AND DATED	SIGNED AND DATED						
COST PROPOSAL (ATTACHED)	INCLUDED	INCLUDED						
GRAND TOTAL TWO YEARS	\$ 527,233.87	\$ 593,370.71						
OPTION YEAR THREE	\$ 303,670.36	\$ 315,181.45						
EXCEPTIONS	NONE	YES, COUNTY/LEGAL TO REVIEW						
FATAL FLAW	NO	NO						

#### ROBERT WOOD JOHNSON PROPOSAL PAGE

ITEM	PROCEDURES	YEAR ONE ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	TOTAL	YEAR TWO ESTIMATED TESTS/ HOURS COST P TEST/HO		TOTAL	YEAR THREE ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	TOTAL DEFINITION
1	5PANEL - 5 Panel Non-DOT Drug Screen	9	\$ 43.85	\$ 394.65	9 \$	46.04	\$ 414.36	9	\$ 48.24 \$	434.16 5 panel non federal drug screen
2	5PANEL - MC CHOOSE 10PANEL- 5 Panel Non-DOT DS	10	\$ 43.85	\$ 438.50	10 \$	46.04	\$ 460.40	10	\$ 48.24 \$	482.40 5 panel non federal drug screen
3	DOT Drug Screen totals	1	\$ 43.85	\$ 43.85	0 \$	46.04	\$ -	1	\$ 48.24 \$	48.24 Federal drug screen
4	LAB/EKG - MCCOTA PP exam with labs & EKG for Corrections	1	\$ 91.49	\$ 91.49	1 \$	96.06	\$ 96.06	1	\$ 100.64 \$	100.64 Academy Clearance physical lab work and ekg
5	LAB/STR - MCCOTA PP exam, labs/stress for Sheriff	10	\$ 325.33	\$ 3,253.30	9 \$ 3	341.60	\$ 3,074.40	10	\$ 357.86 \$	3,578.60 Academy clearance for Sheriff stress test and labs
6	PFT - Pulmonary Function Test	1	\$ 64.64	\$ 64.64	0 \$	67.87	\$ -	1	\$ 71.10 \$	71.10 Pulm. Function test part of respiratory exam
7	WC02 - MC WC Follow up Visit Paperless	325	\$ 144.00	\$ 46,800.00	324 \$ 1	51.20	\$ 48,988.80	325	\$ 158.40 \$	51,480.00 Worker comp. follow up exam
8	WC02 - MCCOTA WC Follow up Visit Paperless	1	\$ 144.00	\$ 144.00	0 \$ 1	51.20	\$ -	1	\$ 158.40 \$	158.40 Worker comp follow up exam for MCCOTA
9	WCF - MC WC Follow up Regular	3	\$ 144.00	\$ 432.00	4 \$ 1	51.20	\$ 604.80	4	\$ 158.40 \$	633.60 Worker comp follow up exam
10	WCO1 - WC Initial Visit Paperless	0	\$ 232.00	\$ -	1 \$ 2	243.60	\$ 243.60	1	\$ 255.20 \$	255.20 Worker comp initial exam
11	WCO1 - MC WC Initial Visit Paperless	225	\$ 232.00	\$ 52,200.00	224 \$ 2	243.60	\$ 54,566.40	225	\$ 255.20 \$	57,420.00 Worker comp initial exam
12	10PAN - MC 10 panel send out(use for all MC DS)	76	\$ 43.85	\$ 3,332.60	76 \$	46.04	\$ 3,499.04	76	\$ 48.24 \$	3,666.24 10 panel send out drug screen used for all correction randoms
13	10PANEL - MC 10 Panel Instant DS	10	\$ 43.85	\$ 438.50	10 \$	46.04	\$ 460.40	10	\$ 48.24 \$	482.40 10 pan, instant drug screen used for all pre employment & RTW
14	12 PANEL - MC 12 panel send out(use for all MC DS)	76	\$ 43.85	\$ 3,332.60	76 \$	46.04	\$ 3,499.04	76	\$ 48.24 \$	3,666.24 12 panel send out drug screen used for all correction randoms
15	12 PANEL - MC 12 Panel Instant DS	10	\$ 43.85	\$ 438.50	10 \$	46.04	\$ 460.40	10	\$ 48.24 \$	482.40 12 panel instant drug screen used for all pre employment & RTW
16	AFTERHRS - MC DS & BAT afterhours	2	\$ 225.00	\$ 450.00	1 \$ 2	236.25	\$ 236.25	2	\$ 247.50 \$	495.00 Afterhours drug screen and BAT-post accident or for suspicion
17	BAT - MC BAT NON-DOT	8	\$ 36.54	\$ 292.32	8 \$	38.37	\$ 306.96	8	\$ 40.19 \$	321.52 Breath alcohol test - non federal
18	DOTPE - MC DOT Physical Exam	2	\$ 71.27	\$ 142.54	1 \$	74.83	\$ 74.83	2	\$ 78.40 \$	156.80 DOT physical exam
19	DSBAT - MC DOT Drug Screen (5 Panel) with DOT BAT	90	\$ 81.20	\$ 7,308.00	90 \$	85.26	\$ 7,673.40	90	\$ 89.32 \$	8,038.80 Drug screen and Breath alcohol for DOT exam
20	DSOPIATE - MC Drug Screen-Extended Opiate Panel	12	\$ 43.85	\$ 526.20	13 \$	46.04	\$ 598.52	13	\$ 48.24 \$	627.12 Extended Opiate panel drug screen used for RTW
21	FCE - MC Functional Capacity Exam	1	\$ 775.68	\$ 775.68	1 \$ 8	314.46	\$ 814.46	1	\$ 853.25 \$	853.25 Functional Capacity exam
22	FFD - MC Fitness for Duty Exam	22	\$ 93.19	\$ 2,050.18	23 \$	97.85	\$ 2,250.55	23	\$ 102.51 \$	2,357.73 Fit for duty exam
23	FLUVAX - MC Flu vaccine	1	\$ 32.48	\$ 32.48	1 \$	34.10	\$ 34.10	1	\$ 35.73 \$	35.73 Influenza vaccine
24	HAIRCOLL - MC Drug screen by hair collection	1	\$ 64.64	\$ 64.64	1 \$	67.87	\$ 67.87	1	\$ 71.10 \$	71.10 Hair sample collection for drug screen
25	HEPBAB - Hepatitis B Surface Antibody Test	0	\$ 25.38	\$ -	1 \$	26.65	\$ 26.65	1	\$ 27.92 \$	27.92 Hepatitis B titer
26	HEPBAB - MC Hepatitis B Surface Antibody Test	0	\$ 25.38	\$ -	1 \$	26.65	\$ 26.65	1	\$ 27.92 \$	27.92 Hepatitis B titer
27	HEPBSER - MC Hepatitis B Series	2	\$ 213.16	\$ 426.32	3 \$ 2	223.82	\$ 671.46	3	\$ 234.48 \$	703.44 Hepatitis B vaccine
28	LAB - MC Lab Work	2	\$ 182.71	\$ 365.42	3 \$ 1	91.85	\$ 575.55	3	\$ 200.98 \$	602.94 Labs(incl.CBC, Chem14, exposure titers, academy cl. Titers, surveillance)
29	LOAEVAL - MC Leave of Absence Evaluation	480	\$ 93.19	\$ 44,731.20	480 \$	97.85	\$ 46,968.00	480	\$ 102.51 \$	49,204.80 FMLA review
30	LYMETITR - MC Lyme Dis Antibody w/reflex Western Blot	1	\$ 86.28	\$ 86.28	1 \$	90.59	\$ 90.59	1	\$ 94.91 \$	94.91 Lyme fiter lab test
31	NUCSTRES - MC Nuclear Stress Test	1	\$ 593.70	\$ 593.70	1 \$ 6	523.39	\$ 623.39	1	\$ 653.07 \$	653.07 Nuclear Stress test
32	PHYS - MC Resp Clearance - Med examiner office	3	\$ 227.72	\$ 683.16	3 \$ 2	239.11	\$ 717.33	3	\$ 250.49 \$	751.47 Respiratory clearance exam for Med. Examiners office
33	PPD - MC PPD	1	\$ 22.33	\$ 22.33	1 \$	23.45	\$ 23.45	1	\$ 24.56 \$	24.56 TB skin test
34	PPE - MC PPE (no PPD or Psych)	201	\$ 68.01	\$ 13,670.01	200 \$	71.41	\$ 14,282.00	201	\$ 74.81 \$	15,036.81 Pre-employment phy. for positions not needing PPD/Psych
35	PPETBPSY - MC PPE with PPD and Psych Eval	7	\$ 79.96	\$ 559.72	8 \$	83.96	\$ 671.68	8	\$ 87.96 \$	703.68 Pre-employment phy. for positions needing PPD/Psych eval
36	RFT - MC Respirator Fit Test	6	\$ 44.66	\$ 267.96	6 \$	46.89	\$ 281.34	6	\$ 49.13 \$	294.78 Respiratory Fit test for those using respirators-surveillance
37	RTW - MC Return To Work/Disability Exam	218	\$ 93.19	\$ 20,315.42	219 \$	97.85	\$ 21,429.15	219	\$ 102.51 \$	22,449.69 Return to Work exams/Disability exams
38	RTW - MCBOSS Return To Work	1	\$ 93.19	\$ 93.19	1 \$	97.85	\$ 97.85	1	\$ 102.51 \$	102.51 Return to Work used for MCBOSS
39	RTWDS - MC WC Return to Work Drug Screen > 30 days	83	\$ 43.85	\$ 3,639.55	83 \$	46.04	\$ 3,821.32	83	\$ 48.24 \$	4,003.92 RTW drug screen only for use when specialist clears Work comp injury
40	WFP - <generic> WC Follow up Visit Paperless</generic>	9	\$ 144.00	\$ 1,296.00	9 \$ 1	51.20	\$ 1,360.80	9	\$ 158.40 \$	1,425.60 Worker Comp follow up exam
41	WFP - HAMTWP WC Follow up Visit Paperless	1	\$ 144.00	\$ 144.00	1 \$ 1	51.20	\$ 151.20	1	\$ 158.40 \$	158.40 Worker Comp follow up exam
42	WIP - WC Initial Visit Paperless	8	\$ 232.00	\$ 1,856.00	8 \$ 2	243.60	\$ 1,948.80	8	\$ 255.20 \$	2,041.60 Worker Comp initial exam
43	Audiometric Testing	1	\$ 20.30	\$ 20.30	1 \$	21.32	\$ 21.32	1	\$ 22.23 \$	22.23 Audiometric Testing as per Part 16
44	Psychological Screening	1	\$ -	\$ -	1		\$ -	1	\$ - \$	- Psychological Screening as per Part 23

#### ROBERT WOOD JOHNSON PROPOSAL PAGE

ITEM	PROCEDURES	YEAR ONE ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	TOTAL	YEAR TWO ESTIMATED TESTS/ HOURS  COST PE TEST/HOL		YEAR THREE ESTIMATED TESTS/ HOURS	COST PE TEST/HO		TOTAL	DEFINITION
45	Psychological Screening (Sheriff's Officers, Correction Officers, Park Rangers)	1	\$ -	\$ -	1	\$ -	1	\$	-	\$ -	Psychological Screening (Sheriff's Officers, Correction Officers, Park Rangers) as per Part 24
46	Immunizations	28	\$ 79.17	\$ 2,216.76	28 \$ 8	.13 \$ 2,327.6	28	\$ 8	37.09	\$ 2,438.52	Immunizations (inc. Hepatitis A&B, tetanus)
47	X Rays	144	\$ 89.32	\$ 12,862.08	144 \$ 9	.79 \$ 13,505.7	144	\$ 9	8.25	\$ 14,148.00	X Rays - all types
48	Stress test	1	\$ 270.76	\$ 270.76	1 \$ 28	.30 \$ 284.3	1	\$ 29	7.84	\$ 297.84	Stress test - Pre-employment/academy clearance
49	Drug screens/BAT's	39	\$ 81.20	\$ 3,166.80	38 \$ 8	.26 \$ 3,239.8	39	\$ 8	39.32	\$ 3,483.48	Drug screens and Breath alcohol testing
50	Labs	25	\$ 152.26	\$ 3,806.50	26 \$ 15	.87 \$ 4,156.6	26	\$ 16	7.49	\$ 4,354.74	Labs(incl.CBC, Chem14, exposure titers, academy cl. Titers, surveillance)
51	Resp. Fit Tests	1	\$ 44.66	\$ 44.66	1 \$ 4	.89 \$ 46.8	1	\$ 4	19.13	\$ 49.13	Respiratory Fit test for those using respirators-surveillance
52	Physicals	2	\$ 67.00	\$ 134.00	1 \$ 7	.35 \$ 70.3	2	\$ 7	3.70	\$ 147.40	Physical exams - pre-employment
53	Return to Work exams	12	\$ 68.01	\$ 816.12	13 \$ 7	.41 \$ 928.3	12	\$ 7	4.81	\$ 897.72	Return to Work exams/Disability exams
54	Pulm. Function test	3	\$ 64.64	\$ 193.92	3 \$ 6	.87 \$ 203.6	3	\$ 7	1.10	\$ 213.30	Pulm. Function test part of respiratory exam
55	FMLA reviews	8	\$ 93.13	\$ 745.04	8 \$ 9	.79 \$ 782.3	. 8	\$ 10	2.44	\$ 819.52	FMLA review
56	EKG	2	\$ 35.53	\$ 71.06	2 \$ 3	.31 \$ 74.6	. 2	\$ 3	39.08	\$ 78.16	EKG - academy clearance/surveillance exam
57	Phlebotomy charge	2	\$ 14.77	\$ 29.54	1 \$ 1	.51 \$ 15.5	2	\$ 1	6.25	\$ 32.50	Lab drawing fee
58	Fit for duty Exam	1	\$ 93.19	\$ 93.19	1 \$ 9	.85 \$ 97.8	1	\$ 10	2.51	\$ 102.51	Fitness for Duty exam
59	Suture Removal kits	1	\$ 24.61	\$ 24.61	1 \$ 2	.84 \$ 25.8	2	\$ 2	27.07	\$ 54.14	Durable medical equipment
60	Part 3. OSHA Respirator Questionnaire	1	\$ 15.23	\$ 15.23	1 \$ 1	.99 \$ 15.9	1	\$ 1	6.75	\$ 16.75	Refer to Part 3.
61	Part 6. Cast/Prothesis Evaluations	1	\$ 60.90	\$ 60.90	1 \$ 6	.95 \$ 63.9	1	\$ 6	6.99	\$ 66.99	Refer to Part 6.
62	Part 7. Psuedocholinesterase	1	\$ 19.21	\$ 19.21	1 \$ 2	.17 \$ 20.13	1	\$ 2	21.13	\$ 21.13	Refer to Part 7.
63	Part 8. Lyme Antibody Titer for screening	1	\$ 86.28	\$ 86.28	1 \$ 9	.59 \$ 90.5	1	\$ 9	4.91	\$ 94.91	Refer to Part 8.
64	Part 10. Cost of Influenza (County Provided)	1	\$ 16.80	\$ 16.80	1 \$ 1	.64 \$ 17.6	1	\$ 1	8.48	\$ 18.48	Refer to Part 10.
65	Part 14. Medical Report Review	1	\$ 93.19	\$ 93.19	1 \$ 9	.85 \$ 97.8	1	\$ 10	2.51	\$ 102.51	Refer to Part 14.
66	Part 17. Refer to page 44. Hazmat Medical Surveillance	1	\$ 433.11	\$ 433.11	1 \$ 45	.77 \$ 454.7	1	\$ 47	6.42	\$ 476.42	Refer to Part 17.
67	Part 18. Refer to page 45. Hazmat Medical Surveillance	1	\$ 577.45	\$ 577.45	1 \$ 60	.32 \$ 606.3	1	\$ 63	35.20	\$ 635.20	Refer to Part 18.
68	Part 19A. Medical Examination	1	\$ 162.80	\$ 162.80	1 \$ 17	.94 \$ 170.9	1	\$ 17	9.08	\$ 179.08	Refer to Part 19A.
68	Part 19B. Chest X-Ray	1	\$ 89.32	\$ 89.32	1 \$ 9	.79 \$ 93.7	1	\$ 9	8.25	\$ 98.25	Refer to Part 19B.
69	Part 20. Medical Surveillance, Temephos	1	\$ 265.94	\$ 265.94	1 \$ 27	.24 \$ 279.2	1	\$ 29	2.53	\$ 292.53	Refer to Part 20.
69	Part 21. Medical Examination DOT	1	\$ 70.21	\$ 70.21	1 \$ 7	.72 \$ 73.7	! 1	\$ 7	7.23	\$ 77.23	Refer to Part 21.
69	Part 22. Police Academy Physical	1	\$ 170.00	\$ 170.00	1 \$ 17	.50 \$ 178.5	1	\$ 18	37.00	\$ 187.00	Refer to Part 22.
70	Part 23. Refer to page 49. Psychological Screening	1	\$ -	\$ -	1 \$	- \$ -	1	\$	-	\$ -	Refer to Part 23.
71	Part 24. Refer to page 50. Psychological Screening	1	\$ 1,400.00	\$ 1,400.00	1 \$ 1,47	.00 \$ 1,470.0	1	\$ 1,54	0.00	\$ 1,540.00	Refer to Part 24.
72	Part 25. Refer to page 50. Psychological Fitness for Duty	1	\$ -	\$ -	1 \$	- \$ -	1	\$	-	\$ -	Refer to Part 25.
73	Consulting Rate Per Hour (INCLUDES SERVICES AS MEDICAL DIRECTOR FOR PUBLIC HEALTH AND BIOTERRORISM PREPAREDNESS/LINCS AS REQUIRED)	100	\$ 175.00	\$ 17,500.00	100 \$ 18	.75 \$ 18,375.0	200	\$ 19	2.50	\$ 38,500.00	Consultation rate per hour
	GRAND TOTAL FOR TWO YEARS			\$ 257,252.71		\$ 269,981.10				\$ 303,670.36	

### CONCENTRA MEDICAL CENTER PROPOSAL PAGE

ITEM	PROCEDURES	YEAR ONE AND TWO ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	TOTAL	YEAR THREE ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	TOTAL	DEFINITION
1	SPANEL - 5 Panel Non-DOT Drug Screen	18	\$ 50.00	\$ 900.00	9	\$ 52.50	\$ 472.50	5 panel non federal drug screen
2	5PANEL - MC CHOOSE 10PANEL - 5 Panel Non-DOT DS	20	\$ 50.00	\$ 1,000.00	10	\$ 52.50	\$ 525.00	5 panel non federal drug screen
3	DOT Drug Screen totals	1	\$ 50.00	\$ 50.00	1	\$ 52.50	\$ 52.50	Federal drug screen
4	LAB/EKG - MCCOTA PP exam with labs & EKG for Corrections	2	\$ 98.50	\$ 197.00	1	\$ 103.43	\$ 103.43	Academy Clearance physical lab work and ekg
5	LAB/STR - MCCOTA PP exam, labs/stress for Sheriff	19	\$ 322.10	\$ 6,119.90	10	\$ 338.21	\$ 3,382.05	Academy clearance for Sheriff stress test and labs
6	PFT - Pulmonary Function Test	1	\$ 64.00	\$ 64.00	1	\$ 67.20	\$ 67.20	Pulm. Function test part of respiratory exam
7	WC02 - MC WC Follow up Visit Paperless	649	\$ 245.00	\$ 159,005.00	325	\$ 257.25	\$ 83,606.25	Worker comp. follow up exam
8	WC02 - MCCOTA WC Follow up Visit Paperless	1	\$ 245.00	\$ 245.00	1	\$ 257.25	\$ 257.25	Worker comp follow up exam for MCCOTA
9	WCF - MC WC Follow up Regular	7	\$ 245.00	\$ 1,715.00	4	\$ 257.25	\$ 1,029.00	Worker comp follow up exam
10	WCO1 - WC Initial Visit Paperless	1	\$ 350.00	\$ 350.00	1	\$ 367.50	\$ 367.50	Warker comp initial exam
11	WCO1 - MC WC Initial Visit Paperless	449	\$ 350.00	\$ 157,150.00	225	\$ 367.50	\$ 82,687.50	Worker comp initial exam
12	10PAN - MC 10 panel send out(use for all MC DS)	152	\$ 50.00	\$ 7,600.00	76	\$ 52.50	\$ 3,990.00	10 panel send out drug screen used for all correction randoms
13	10PANEL - MC 10 Panel Instant DS	20	\$ 50.00	\$ 1,000.00	10	\$ 52.50	\$ 525.00	10 pan. instant drug screen used for all pre employment & RTW
14	12 PANEL - MC 12 panel send out(use for all MC DS)	152	\$ 50.00	\$ 7,600.00	76	\$ 52.50	\$ 3,990.00	12 panel send out drug screen used for all correction randoms
15	12 PANEL - MC 12 Panel Instant DS	20	\$ 50.00	\$ 1,000.00	10	\$ 52.50	\$ 525.00	12 panel instant drug screen used for all pre employment & RTW
16	AFTERHRS - MC DS & BAT afterhours	3	NA		2	NA		Afterhours drug screen and BAT-post accident or for suspicion
17	BAT - MC BAT NON-DOT	16	\$ 40.00	\$ 640.00	8	\$ 42.00	\$ 336.00	Breath alcohol test - non federal
18	DOTPE - MC DOT Physical Exam	3	\$ 72.00	\$ 216.00	2	\$ 75.60	\$ 151.20	DOT physical exam
19	DSBAT - MC DOT Drug Screen (5 Panel) with DOT BAT	180	\$ 90.00	\$ 16,200.00	90	\$ 94.50	\$ 8,505.00	Drug screen and Breath alcohol for DOT exam
20	DSOPIATE - MC Drug Screen-Extended Opiate Panel	25	\$ 50.00	\$ 1,250.00	13	\$ 52.50	\$ 682.50	Extended Opiate panel drug screen used for RTW
21	FCE - MC Functional Capacity Exam	2	\$ 800.00	\$ 1,600.00	1	\$ 840.00	\$ 840.00	Functional Capacity exam
22	FFD - MC Fitness for Duty Exam	45	\$ 91.81	\$ 4,131.45	23	\$ 96.40	\$ 2,217.21	Fit for duty exam
23	FLUVAX - MC Flu vaccine	2	\$ 35.00	\$ 70.00	1	\$ 36.75	\$ 36.75	Influenza vaccine
24	HAIRCOLL - MC Drug screen by hair collection	2	\$ 63.68	\$ 127.36	1	\$ 66.86	\$ 66.86	Hair sample collection for drug screen
25	HEPBAB - Hepatitis B Surface Antibody Test	1	\$ 100.00	\$ 100.00	1	\$ 105.00	\$ 105.00	Hepatitis B titer
26	HEPBAB - MC Hepatitis B Surface Antibody Test	1	\$ 100.00	\$ 100.00	1	\$ 105.00	\$ 105.00	Hepatitis B titer
27	HEPBSER - MC Hepatitis B Series	5	\$ 420.00	\$ 2,100.00	3	\$ 441.00	\$ 1,323.00	Hepatitis B vaccine
28	LAB - MC Lab Work	5	\$ 180.00	\$ 900.00	3	\$ 189.00	\$ 567.00	Labs( incl.CBC, Chem14, exposure titers, academy cl. Titers, surveillance)
29	LOAEVAL - MC Leave of Absence Evaluation	960	\$ 40.00	\$ 38,400.00	480	\$ 42.00	\$ 20,160.00	FMLA review
30	LYMETITR - MC Lyme Dis Antibody w/reflex Western Blot	1	\$ 85.00	\$ 85.00	1	\$ 89.25	\$ 89.25	Lyme titer lab test
31	NUCSTRES - MC Nuclear Stress Test	1	NA		1	NA		Nuclear Stress test
32	PHYS - MC Resp Clearance - Med examiner office	6	\$ 225.00	\$ 1,350.00	3	\$ 236.25	\$ 708.75	Respiratory clearance exam for Med. Examiners office
33	PPD - MC PPD	1	\$ 30.00	\$ 30.00	1	\$ 31.50	\$ 31.50	TB skin fest
34	PPE - MC PPE (no PPD or Psych)	401	\$ 70.00	\$ 28,070.00	201	\$ 73.50	\$ 14,773.50	Pre-employment phy. for positions not needing PPD/Psych
35	PPETBPSY - MC PPE with PPD and Psych Eval	15	\$ 100.00	\$ 1,500.00	8	\$ 105.00	\$ 840.00	Pre-employment phy. for positions needing PPD/Psych eval
36	RFT - MC Respirator Fit Test	12		\$ 660.00	6	\$ 57.75	\$ 346.50	Respiratory Fit test for those using respirators-surveillance
37	RTW - MC Return To Work/Disability Exam	437	\$ 90.00	\$ 39,330.00	219	\$ 94.50	\$ 20,695.50	Return to Work exams/Disability exams
38	RTW - MCBOSS Return To Work	1	\$ 90.00	\$ 90.00	1	\$ 94.50	\$ 94.50	Return to Work used for MCBOSS
39	RTWDS - MC WC Return to Work Drug Screen > 30 days	166	\$ 50.00	\$ 8,300.00	83	\$ 52.50	\$ 4,357.50	RTW drug screen only for use when specialist clears Work comp injury
40	WFP - <generic> WC Follow up Visit Paperless</generic>	18		\$ 4,410.00 \$ 245.00	9	\$ 257.25 \$ 257.25	\$ 2,315.25 \$ 257.25	Worker Comp follow up exam
41	WFP - HAMTWP WC Follow up Visit Paperless WIP - WC Initial Visit Paperless	16	\$ 245.00 \$ 350.00	\$ 245.00 \$ 5,600.00	8	\$ 257.25 \$ 367.50	\$ 257.25 \$ 2,940.00	Worker Comp follow up exam  Worker Comp initial exam
43	Audiometric Testing	10	\$ 35.00	\$ 35.00	1	\$ 36.75	\$ 36.75	Audiometric Testing as per Part 16
43	Audiometric lesting  Psychological Screening	1	\$ 33.00	\$ 33.00	1	\$ 36.75	\$ 36.73	Psychological Screening as per Part 23
45	Psychological Screening Psychological Screening (Sheriff's Officers, Correction Officers, Park	1	\$ -	\$ -	1	\$ -	\$ .	Psychological Screening (Sheriff's Officers, Correction Officers, Park Rangers) as per Part 24
46	Rangers)	56	\$ 600.00	\$ 33,600.00	28	\$ 630.00	\$ 17.640.00	Immunizations (inc. Hepatitis A&B, tetanus)
47	X Rays	288	\$ 100.00	\$ 28,800.00	144	\$ 105.00	\$ 15,120.00	X Rays - all types
48	Stress test	1	\$ 350.00	\$ 350.00	1	\$ 367.50	\$ 367.50	Stress test - Pre-employment/academy clearance
49	Drug screens/BATs	77	\$ 90.00	\$ 6,930.00	39	\$ 94.50	\$ 3,685.50	
50	Labs	51		\$ 17,850.00	26	\$ 367.50	\$ 9,555.00	Labs( incl.CBC, Chem14, exposure titers, academy cl. Titers, surveillance)
51	Resp. Fit Tests		\$ 55.00	\$ 110.00	1	\$ 57.75 \$ 72.60	\$ 57.75	Respiratory Fit test for those using respirators-surveillance
52	Physicals  Return to Work exams	23	\$ 70.00 \$ 90.00	\$ 210.00 \$ 2.070.00	12	\$ 73.50 \$ 94.50	\$ 147.00 \$ 1.134.00	Physical exams - pre-employment  Return to Work exams/Disability exams
54	Pulm. Function test		\$ 70.00	\$ 420.00		\$ 73.50	\$ 220.50	Pulm. Function test part of respiratory exam
55	FMLA reviews	16	\$ 40.00	\$ 640.00	8	\$ 42.00	\$ 336.00	FMLA review
56	EKG	4	\$ 70.00	\$ 280.00	2	\$ 73.50	\$ 147.00	EKG - academy clearance/surveillance exam
57	Phlebotomy charge	3	included		2	included		Lab drawing fee
58	Fit for duty Exam	2	\$ 90.00	\$ 180.00	1	\$ 94.50	\$ 94.50	Fitness for Duty exam
59	Suture Removal kits	4	included		2	included		Durable medical equipment
60	Part 3. OSHA Respirator Questionnaire	1	\$ 20.00	\$ 20.00	1	\$ 21.00	\$ 21.00	Refer to Part 3.
61	Part 6. Cast/Prothesis Evaluations	1	NA NA		1	NA NA		Refer to Port 6.
62	Part 7. Psuedocholinesterase	1	NA 150.00	¢ 150.00	1	NA 15750	g 100.00	Refer to Part 7.
63	Part 10. Cost of Influence (County Provided)	1	\$ 150.00 \$ 20.00	\$ 150.00 \$ 20.00	1	\$ 157.50 \$ 21.00	\$ 157.50 \$ 21.00	Refer to Part 8. Refer to Part 10.
65	Part 10. Cost of Influenza (County Provided)  Part 14. Medical Report Review	1		\$ 20.00	1	\$ 21.00 \$ 94.50	\$ 21.00	Refer to Part 10. Refer to Part 14.
66	Part 14. Medical Report Review  Part 17. Refer to page 44. Hazmat Medical Surveillance	1		\$ 450.00	1	\$ 94.50 \$ 472.50	\$ 472.50	Refer to Part 17.
66	Part 17. Refer to page 44. Hazmat Medical Surveillance Part 18. Refer to page 45. Hazmat Medical Surveillance	1		\$ 450.00 \$ 600.00	1	\$ 472.50 \$ 630.00	\$ 472.50 \$ 630.00	Refer to Part 17.  Refer to Part 18.
68	Part 19A. Medical Examination	1	\$ 220.00	\$ 220.00	1	\$ 231.00	\$ 231.00	Refer to Part 19A.
68	Part 198. Chest X-Ray	1	\$ 180.00	\$ 180.00	1	\$ 189.00	\$ 189.00	Refer to Part 198.
69	Part 20. Medical Surveillance, Temephos	1	\$ 350.00	\$ 350.00	1	\$ 367.50	\$ 367.50	Refer to Part 20.
69	Part 21. Medical Examination DOT	1	\$ 75.00	\$ 75.00	1	\$ 78.75	\$ 78.75	Refer to Part 21.
69	Part 22. Police Academy Physical	1	\$ 240.00	\$ 240.00	1	\$ 252.00	\$ 252.00	Refer to Part 22.
70	Part 23. Refer to page 49. Psychological Screening	1	\$ -	\$ -	1	\$ -	\$ -	Refer to Part 23.
		1					1	ı

#### CONCENTRA MEDICAL CENTER PROPOSAL PAGE

ITEM	PROCEDURES	YEAR ONE AND TWO ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	TOTAL	YEAR THREE ESTIMATED TESTS/ HOURS	COST PER TEST/HOUR	TOTAL	DEFINITION
71	Part 24. Refer to page 50. Psychological Screening	1	\$ -	\$ -	1	\$ -	\$ -	Refer to Part 24.
72	Part 25. Refer to page 50. Psychological Fitness for Duty	1	\$ -	\$ -	1	\$ -	\$ -	Refer to Part 25.
73	Consulting Rate Per Hour (INCLUDES SERVICES AS MEDICAL DIRECTOR FOR PUBLIC HEALTH AND BIOTERRORISM PREPAREDNESS/LINCS AS REQUIRED)	400			200			Consultation rate per hour
	GRAND TOTAL FOR TWO YEARS			\$ 593,370.71			\$ 315,181.45	